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øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any five questions: 2×5=10

Œ˚ Œfl¬±ÀÚ± ¬Û“±‰¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Define hemostasis.

Hemostasis-¤ı˛ ¸—:± ±›/

(b) Mention the functions of Schwann cells in the vertebrate nervous system.

 Œ˜èG¬œ √õ∂±ÌœÀı˛ ¶ß±˚˛≈Ó¬ÀLa Schwann Œfl¬±À˙ı˛ fl¬±Ê Î¬◊À{°‡ fl¬Àı˛±/

(c) What do you mean by Intercalated discs?

 Intercalated discs ı˘ÀÓ¬ Ó≈¬ø˜ fl¬œ Œı±ÀÁ¬±∑

(d) Define Gluconeogenesis.

Gluconeogenesis-¤ı˛ ¸—:± ±›/

(e) What is Juxtaglomerular apparatus?

Juxtaglomerular apparatus fl¬œ∑

(f) Explain the term ‘Michaelis constant (Km)’.

‘Michaelis constant (Km)’ fl¬Ô±øÈ¬ ı…±‡…± fl¬Àı˛±/

(g) What is Chloride shift?

Chloride shift fl¬±Àfl¬ ıÀ˘∑

(h) What do you mean by Z-line in a muscular tissue?

Œ¬Ûø˙fl¬˘±ı˛ Z-line ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑

32618/17230 Please Turn Over

17230-SP-III-Zoo-301-1C-19-D



SP-III/ZOO/301/C-1C/19 ( 2 )

2. Answer any four questions: 5×4=20

Œ˚ Œfl¬±ÀÚ± ‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) With the help of a suitable diagram, explain the molecular basis of skeletal muscle
constraction. 2+3=5

ø‰¬ø˝êÓ¬ ø‰¬S¸˝À˚±À· fl¬Ç¬±˘ Œ¬Ûø˙ı˛ ¸—Àfl¬±‰¬ÀÚı˛ √õ∂øSê˚˛±øÈ¬ı˛ molecular øˆ¬øM ı…±‡…± fl¬Àı˛±/

(b) Briefly describe the mechanism of urine-formation in a mammalian nephron. 5

ô¶∏Ú…¬Û±˚˛œ √õ∂±Ìœı˛ nephron-¤ ˜”S Î¬◊»¬Û±ÀÚı˛ √õ∂øS˚˛±øÈ¬ ¸—Àé¬À¬Û ıÌ«Ú± fl¬Àı˛±/

(c) Write a short note on the digestion and absorption of lipids in the alimentary canal.
2+3=5

Œ¬ÛÃø©Üfl¬Ú±˘œı˛ ˜ÀÒ… Œ¶ß˝¬Û±ÀÔ«ı˛ ¬Ûøı˛¬Û±fl¬ › øıÀ˙±¯ÀÌı˛ Î¬◊¬Ûı˛ ¤fl¬øÈ¬ È¬œfl¬± Œ˘À‡±/

(d) Define Apoenzyme and Holoenzyme. Mention the major characteristics features of Enzyme.
2+3=5

’…±À¬Û±¤ÚÊ±˝◊˜ › ˝À˘±¤ÚÊ±˝◊˜ ¤ı˛ ¸—:± ±›/ Î¬◊»À¸‰¬Àfl¬ı˛ √õ∂Ò±Ú Δıø˙©Ü…&ø˘ Î¬◊À{°‡ fl¬ı˛/

3. Answer any one question: 10×1=10

Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Describe the role of haemoglobin in the transport of oxygen in blood. Explain the
oxygen-haemoglobin dissociation curve, mentioning the factors affecting it. 6+4=10

ı˛ÀMê Oxygen ¬Ûøı˛ı˝ÀÚ Haemoglobin-¤ı˛ ˆ”¬ø˜fl¬±øÈ¬ ıÌ«Ú± fl¬Àı˛±/ ’ø'ÀÊÚ øıÀ˚˛±ÊÚ Œ˘‡ø‰¬SøÈ¬
(Oxygen-haemoglobin dissociation curve) ı…±‡…± fl¬Àı˛± ¤ı— ¤ı˛ øÚ˚˛LaÌfl¬±ı˛œ √õ∂ˆ¬±ıfl¬&ø˘ Î¬◊À{°‡
fl¬Àı˛±/

(b) What is resting membrane potential? With the help of a suitable diagram, describe the
generation, propagation & synaptic transmission of an action potential along a myclinated
nerve fiber. 2+8=10

ø¶öøÓ¬øıˆ¬ı ïResting Membrane Potentialó ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑ ø‰¬ø˝êÓ¬ ø‰¬S ¸˝À˚±À· ˜±À˚˛ø˘Ú ’±ıı˛Ìœ
˚≈Mê ¶ß±˚˛≈Ó¬cı˛ ˜Ò… øÀ˚˛ øSê˚˛±øıˆ¬Àıı˛ ïAction Potentialó Î¬◊»¬ÛøM, ¬Ûøı˛ı˝Ú ¤ı— ¶ß±˚˛≈¸øg¬ ¬Ûøı˛ı˝Ú
√õ∂øSê˚˛±øÈ¬ı˛ ıÌ«Ú± ±›/
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